PUR-1444 Bulk Gasoline and Diesel Fuel

	OPTION 1				& T. Co., Inc. rstown, MD		Colonial Oil Industries, Inc. Savannah, GA			es, Inc.			
		A	В	C	D	E	В	C	D	E			
	Item	OPIS Newsletter Price as of 09-02-19	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6727	\$0.2265	\$1.8992	63,387	\$120,384.59	No Bid	No Bid	63,387	No Bid			
Sec. I	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.8294	\$0.2265	\$2.0559	8,500	\$17,475.15	No Bid	No Bid	8,500	No Bid			
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I			\$13	37,859.74				No Bid	o Bid			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.6727	\$0.0700	\$1.7427	194,000	\$338,083.80	\$0.0739	\$1.7466	194,000	\$338,840.40			
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.8294	\$0.0700	\$1.8994	194,925	\$370,240.54	\$0.0694	\$1.8988	194,925	\$370,123.59			
	Total Sum Gasoline Transport as Described in Section II			\$7	08,324.34			\$7	08,963.99				
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.8736	\$0.2165	\$2.0901	64,275	\$134,341.17	No Bid	No Bid	64,275	No Bid			
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.8736	\$0.0725	\$1.9461	655,213	\$1,275,110.00	\$0.0754	\$1.9490	655,213	\$1,277,010.14			

OPTION 1	A.C. & T. Co., Inc. Hagerstown, MD	Colonial Oil Industries, Inc. Savannah, GA				
Winter Chemical Additive Protection (cost per gallon):	Tank-wagon at Rack: \$.0300/gal. Transport: \$.0500/gal.	\$0.0235				
Winter Chemical Additive Protection Product Name:	Tank-wagon at Rack: CFI 1902 Transport: 137 ULSW Diesel Treat 2000	Diesel Fuel Supplement + Cetane Boost				
Manufacturer's Name:	Tank-wagon at Rack: Innospec Transport: Schaeffer Manufacturing	Power Service				

	OPTION	2			& T. Co., Inc.		Colonial Oil Industries, Inc. Savannah, GA			s, Inc.
		A	В	C OPIS Price	D	E	В	C OPIS Price	D	Е
	Item	OPIS Newsletter Price as of 09-02-19	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	+ Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6727	\$0.2240	\$1.8967	63,387	\$120,226.12	No Bid	No Bid	63,387	No Bid
Sec.	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.8294	\$0.2240	\$2.0534	8,500	\$17,453.90	No Bid	No Bid	8,500	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I			\$13	37,680.02			(A + B) Usage (C X D) Per Gallon No Bid No Bid No Bid 8,500 No Bid No Bid 194,000 No Bid No Bid 194,925 No Bid No Bid No Bid No Bid		
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.6727	\$0.0675	\$1.7402	194,000	\$337,598.80	No Bid	No Bid	194,000	No Bid
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.8294	\$0.0675	\$1.8969	194,925	\$369,753.23	No Bid	No Bid	194,925	No Bid
	Total Sum Gasoline Transport as Described in Section II			\$70	07,352.03					
Sec. III	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.8736	\$0.2140	\$2.0876	64,275	\$134,180.49	No Bid	No Bid	64,275	No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.8736	\$0.0700	\$1.9436	655,213	\$1,273,471.90	No Bid	No Bid	655,213	No Bid
	Total Sum Bid of All Sec (Sections I-IV)		\$2,2	252,684.44		No Bid				

OPTION 2	A.C. & T. Co., Inc. Hagerstown, MD	Colonial Oil Industries, Inc. Savannah, GA				
Winter Chemical Additive Protection (cost per gallon):	Tank-wagon at Rack: \$.0300/gal. Transport: \$.0500/gal.	No Bid				
Winter Chemical Additive Protection Product Name:	Tank-wagon at Rack: CFI 1902 Transport: 137ULSW Diesel Treat 2000	No Bid				
Manufacturer's Name:	Tank-wagon at Rack: Innospec Transport: Schaeffer Manufacturing	No Bid				

NOTES:

A.C.&T. Co. Inc.

Option 2 Total Sum Bid of All Section Totals = \$2,252,684.44

A.C.&T. Co. Inc. total \$2,252,684.30

	OPTION 1				er Energy, I	nc.	Mansfield Oil Company of Gainesv Gainesville, GA			
		A	В	C	D	E	В	С	D	E
	Item	OPIS Newsletter Price as of 09-02-19	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6727	No Bid	No Bid	63,387	No Bid	No Bid	No Bid	63,387	No Bid
	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.8294	No Bid	No Bid	8,500	No Bid	No Bid	No Bid	8,500	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I				No Bid		No Bid			
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.6727	\$0.0653	\$1.7380	194,000	\$337,169.22	\$0.0459	\$1.7186	194,000	\$333,408.40
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.8294	\$0.0847	\$1.9141	194,925	\$373,107.44	\$0.0304	\$1.8598	194,925	\$362,521.52
	Total Sum Gasoline Transport as Described in Section II			\$7	10,276.66			\$6	95,929.92	
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.8736	No Bid	No Bid	64,275	No Bid	No Bid	No Bid	64,275	No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.8736	\$0.0604	\$1.9340	655,213	\$1,267,189.19	\$0.0751	\$1.9487	655,213	\$1,276,813.57

OPTION 1	East River Energy, Inc. Guilford, CT	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA				
Winter Chemical Additive Protection (cost per gallon):	\$.02/gal.					
Winter Chemical Additive Protection Product Name:	Innospec	300 ULSW ArticShield				
Manufacturer's Name:	Innospec	Schaeffer Manufacturing Company				

	OPTION	2			er Energy, Ii ilford, CT	nc.	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA			nesville, Inc.
		A	В	С	D	E	В	С	D	E
	Item	OPIS Newsletter Price as of 09-02-19	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6727	No Bid	No Bid	63,387	No Bid	No Bid	No Bid	63,387	No Bid
Sec.	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.8294	No Bid	No Bid	8,500	No Bid	No Bid	No Bid	8,500	No Bid
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I				No Bid			No Bid		
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.6727	No Bid	No Bid	194,000	No Bid	No Bid	No Bid	194,000	No Bid
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.8294	No Bid	No Bid	194,925	No Bid	No Bid	No Bid	194,925	No Bid
	Total Sum Gasoline Transport as Described in Section II				No Bid					
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.8736	No Bid	No Bid	64,275	No Bid	No Bid	No Bid	64,275	No Bid
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.8736	No Bid	No Bid	655,213	No Bid	No Bid	No Bid	655,213	No Bid
	Total Sum Bid of All Secti (Sections I-IV)			No Bid		\$1,972,743.49				

OPTION 2	East River Energy, Inc. Guilford, CT	Mansfield Oil Company of Gainesville, Inc. Gainesville, GA
Winter Chemical Additive Protection (cost per gallon):	N/A	\$.02/gal.
Winter Chemical Additive Protection Product Name:	N/A	300 ULSW ArticShield
Manufacturer's Name:	N/A	Schaeffer Manugacturing Company

NOTES:

Mansfield Oil Co.

Non-Responsive due to Proposal incomplete

	OPTION 1				PCO, Inc. ston, PA				Petroleum Traders Corporation Fort Wayne, IN		
		A	В	С	D	E	В	C	D	E	
	Item	OPIS Newsletter Price as of 09-02-19	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	Bidder +/- Factor	OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	Net Delivered (C X D)	
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Tank-wagon	\$1.6727	No Bid	No Bid	63,387	No Bid	No Bid	No Bid	63,387	No Bid	
	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Tank-wagon	\$1.8294	No Bid	No Bid	8,500	No Bid	No Bid	No Bid	8,500	No Bid	
	Total Sum Gasoline Tanl Deliveries as Described in			No Bid		No Bid					
	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.6727	-\$0.0067	\$1.6794	194,000	\$325,807.56	\$0.0011	\$1.6738	194,000	\$324,717.20	
Sec. II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.8294	-\$0.0178	\$1.8116	194,925	\$353,120.10	-\$0.0166	\$1.8128	194,925	\$353,360.04	
	Total Sum Gasoline Transport as Described in Section II			\$6	78,927.66			\$6'	\$128 194,925 \$353,360.04 \$678,077.24		
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.8736	No Bid	No Bid	64,275	No Bid	No Bid	No Bid	64,275	No Bid	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.8736	\$0.0441	\$1.9177	655,213	\$1,256,510.91	\$0.0440	\$1.9176	655,213	\$1,256,436.45	

OPTION 1	PAPCO, Inc. Aston, PA	Petroleum Traders Corporation Fort Wayne, IN				
Winter Chemical Additive Protection (cost per gallon):	\$0.0250	\$0.0300				
Winter Chemical Additive Protection Product Name:	Antigel - 3000 CF	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#13ULSSW)				
Manufacturer's Name:	C&S Scientific	Schaeffer Manufacturing Company				

	OPTION	2			PCO, Inc. ston, PA			Petroleum Traders Corporation Fort Wayne, IN			
	Item Gasoline Unleaded 87 Octane	OPIS Newsletter Price as of 09-02-19	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	Approx. Gallon Usage	E Net Delivered (C X D)	B Bidder +/- Factor	C OPIS Price + Bidder Factor (A + B) Per Gallon	D Approx. Gallon Usage	E Net Delivered (C X D)	
Sec.	CBOB Ethanol (10%) Tank-wagon Gasoline Unleaded 89 Octane	\$1.6727	No Bid	No Bid	63,387	No Bid	\$0.2000	\$1.8727	63,387	\$118,704.83	
	CBOB Ethanol (10%) Tank-wagon	\$1.8294	No Bid	No Bid	8,500	No Bid	\$0.2000	\$2.0294	8,500	\$17,249.90	
	Total Sum Gasoline Tank-wagon Deliveries as Described in Section I				No Bid			135,954.73			
Sec.	Gasoline Unleaded 87 Octane CBOB Ethanol (10%) Transport	\$1.6727	No Bid	No Bid	194,000	No Bid	\$0.0241	\$1.6968	194,000	\$329,179.20	
II	Gasoline Unleaded 89 Octane CBOB Ethanol (10%) Transport	\$1.8294	No Bid	No Bid	194,925	No Bid	\$0.0241	\$1.8535	194,925	\$361,293.49	
	Total Sum Gasoline Transport as Described in Section II				No Bid			69	\$2.0294		
	Total Sum Diesel Tank-wagon Deliveries as Described in Section III No. 2-D Diesel Ultra Low Sulfur	\$1.8736	No Bid	No Bid	64,275	No Bid	\$0.2000	\$2.0736	64,275	\$133,280.64	
	Total Sum Diesel Transport Deliveries as Described in Section IV No. 2-D Diesel Ultra Low Sulfur	\$1.8736	No Bid	No Bid	655,213	No Bid	\$0.0540	\$1.9276	655,213	\$1,262,988.58	
	Total Sum Bid of All Secti (Sections I-IV)			No Bid			\$2,222,696.64				

OPTION 2	PAPCO, Inc. Aston, PA	Petroleum Traders Corporation Fort Wayne, IN				
Winter Chemical Additive Protection (cost per gallon):	No Bid	\$0.0300				
Winter Chemical Additive Protection Product Name:	No Bid	Diesel Treat 2000 Ultra Low Sulfur Winter Premium (#13ULSSW)				
Manufacturer's Name:	No Bid	Schaeffer Manufacturing Company				

NOTES:

PAPCO, Inc.

Option No. 1 Section II / Total Sum Gasoline Transport as Described in Section II = \$678,927.66. PAPCO, Inc. total = \$678,927.67